Division par 10% (G)

69 = 102

48 + 107

28 =+ 102

82 + 107

20 =+ 102

51 + 10?

36 =+ 107

76 = 102

65 =+ 102

34 =+ 102

Trouvez chaque quotient.

81+ 10%=

46 +~ 10% =

81 + 107

34 + 107

84 +10% =

62 +10% =

9+10%=

60 + 10% =

26 +10% =

33 +10%=
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Division par 10% (G) Solutions

69 + 10%=0,69

48 =~ 10* = 0,48

28 +10%=0,28

82 + 10%=0,82

20 +10%=0,2

51 +10*=0,51

36 + 10°=0,36

76 +10*=0,76

65 + 10% = 0,65

34 +10*=0,34

Trouvez chaque quotient.

81+ 10%>=0,81

46 + 10% = 0,46

81+ 10%>=0,81

34 +10%*=0,34

84 + 10% = 0,84

62 +10%°= 0,62

9 +10%=10,09

60 +~ 10> =0,6

26 +~10°=0,26

33 +10°=0,33
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